Useful Equations
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1. (3pt) A particle moves in a plane along a path r = k6 at constant speed v, starting from the origin.
What is 7 when r=k? , ; \ji’ L1 B ‘(L ‘}:L
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2. (3pt) Evaluate the integral f A Zdt , given that the vector A has constant length (call it v.)
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-Turn the quiz over-




3. (3pt) A particle moves through space, described by a vector from the origin 7(¢) . The length of 7 =r=~7"7 .
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Evaluate E—(rzv) in terms of r,7,7,d.
t

gy 4 BT TR
— \(’@

Sy &2 =
Y CPVARVAR o .

4. (1 pt) An object’s position in a plane is described by polar coordinatesr, 6. The object is initially stationary.
A force is applied with F, = constant (not zero), F: = 0. Does r remain the same during the object’s motion?
Explain your answer by referring to the “useful équations” above
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